chel Ml
. g g2 mMﬂ qmﬁwam - of &b & o M (e )
(A) (B) o o= H| (%)
m.vw Al e & A 7,150 750 6,400 - 90
NE=L] 5,050 350 4,700 - 93 |AlE &, BFH|/EUEH| 350,000
XHoLE| Sb| 2,000 300 1,700 - 85 wwmf Uy S 718 300,000
szM,_u_ 100 100 - - M Eel 77 gelsl 100,000
goim) | JURER 2~ A a3,0 | 38,977 |- 41001 - 10
Behs o | mess| to.esa|- 1.8 - 10 [RisEms 3,5008 «4 302 <1270 2= 5,040,000
IR0 ETES 300, 000= 300,000
M Al A 50,0008 +127 &= 600,000
HEAME|A 11,0002 *80% =23 = 1,760,000
ZEx 2 8024 +25,000% = 2,000,000
Q| A| x| 2l M| A 983,786% = 983,786
MR 2 ALY 960 598 362 100 |FHdl ol Stot=2|7| Aol s -
TS EX M| A 7,470% »80% »13]= 597,600
»mwuw 4,800 4,500 300 - 6 |-tSolME|lA 1,400,00081+13]= 1,400,000
Sk E M| A 1,100,000% «13|= 1,100,000
K| o434 AFEHO] AMfB| A N_Qoo.ogm:m_u, 2,000,000
mwhﬂnm 8,990 5,900 1,00 - 16 |SE{EZDH M| A 150, 0008 3% = 600,000
grod M| A é“oooméwu, 800,000
SR I LI 1,000, 00094 »224= 2,000,000
AT 100, 0009 «3Y = 500,000
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